
Time: 10 Minutes Paper G-Science 6 Total Marks: 10

1st Month, 3rd Week, 4th Day Syllabus: Unit # 2, Seed dispersal, Seed

germination + Do you know?

Q.No.1 Encircle the correct answer from the following choices. (0.563)


i. In some plants seeds are dispersed through:   
(a) Animals  (b) Wind  (c) Water  (d) All of these 
ii. Which part of seed grow into the soil for water and salt absorption?


(a) Cotyledon  (b) Plumule  (c) Testa 


 (d) Radicle 

iii. Cotyledons form the _____leaflets of seed.   
(a) First  (b) Second  (c) Third  (d) Fourth 
iv. Which of the following plant does not take part in self-pollination?


(a) Cabbage  (b) Papaya  (c) Corn  (d) Onion 
v. There is only one ovule per ovary in the______plant.

 
(a) Rose  (b) Papaya  (c) Maize  (d) Watermelon 
vi. Which of the following is used to pollinate plants?


(a) Bird  (b) Bat  (c) Ant  (d) Botha&b  b  a

Q.No.2. Write short answers. (224) 
(i) What is the role of hypocotyl in seed germination?








(ii) Write the few methods of seed dispersal. 
Q.No.3. Write long answer. (3) 
(i) What do you know about seed germination? 







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